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ENGLISH (Basic)
(Regular) : S
Maximum Marks : 80

“Write a conversation w1th the clerk of a coilege secking admission for B. Com-

Ist sem. _ : g (5)

Write a dialogue of enqu1ry with a medical shopkeeper about betadme medicine.

)

Write a paragraph on how to get to your friend’s home from the bus-stand using
a few of the prepositions given in the bracket (in the comer, near, nextto , between,
opposite to behind, beyond, along , past, across, down; up, towards).

o o)
Write instructions to reach state of Bank of India from your college to geta

DD using a few prepositions given in the brackets (in the comer, near, next to
between, opposﬁe to , behind, beyond, along, past, across, down, up, towards). ()

Write instructions to your friend about the preparation of rice. . (5)
Write instructions on the process of preparation of word file. (5)

Write a formal telephone conversation between a studentand teacher requesting
him to give “Who moved my cheese”' Book. R )

Write an mfonnal telephone conversatlen between two frlends ‘about a proposed
visit to J; og falls on Sunday. S (3

: _ B Sandt ' . (S5)
C tverpe e ey el Pulil

P.T.0O:
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b) Interpret the given Pie-chart in India age breakdown ina paragraph.  ~ (5)
| o ' —»Ondet 3ide HoVre
Undeg 1SYTS L Ve yUndes Ly do 50 g

B » Undgd €6 YAs ko 20 Yoy

Undes GLAD 65y
rInd S6E bo Pre

Uﬂciu, s to 3o Y13
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i) -a) Writea convérsation of appointment. With a bank manager for your educational
: loan to pursue MBA in oxford university . - ()

b}  Writea conversation of appointment with a Doctor for your health problem.

: . . 5
V. i) a)_ ‘Write a report of a Group stcussmn held among five students on the
' topic - “Nationalism”. S _ (5) '
b)  Write a short speech on “Swachh Bharat Abhiyan”. | CB)
ii) a) Describe your ‘favourite teacher’ using appropriate adjectives. (5)

b)  Describe a beautiful tourist place that you visited in your life, ' B
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VI ﬁaﬁﬁaa:mﬁml C . a0
Newspapers are one of the signs of cmhzatlon The more a country is educated,
the greater is the demand for newspapers, for an educated man is always
eager to know what is going on in this world. This information he can only
have through the medium of newspapers. The primary function of a News

* papers is to supply us with all sorts of News local and foreign. It gives us
information of what is going on in our own Country and other parts of the
world. - -
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IV Semester B.B.A 4 (CBCS) Degree Examination, September/October - 2022
ORGANIZATIONAL BEHAVIOUR
Paper : DSC 401 .

Time : 3 Hours

Instruction to Candidates:

1)
2)

Write question numbers correctly

Section - D is compulsory

SECTION -A

Maximum Marks : 80

Answer any TEN Sub-questions of the following. Each sub-question carries two

marks.
1. a) Whatisorganisational Behaviour?
b)  Whatis attribution?
¢) Whatis motivation?
d)  Whatis an attitude ?
e)  Whatis group dynamics?
f)  Whatis change?
g)  What is Perception?
h}  Whois leader?
i)  Whatislearning?
i} What is sclf-esteem?
k)  Whatis charge?
1)  Whatis organisational climate?

(10x2=20)

[P.T.O.
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10.
11.

12.

SECTION -B

Answer any FOUR of the following qucestions. Each question carries FIVE marks.
(4x5=20)

Explain the managerial grid.”

What are the types of leadcrship?

How the conflicts are managed.

Explain the process of organisational development,

What are the stages of group formation?
SECTION- C

Answer any THREE of the following questions. Each question carries TEN marks.
(3x10=30)

Explain Johari window?

Explain the factors influencing organisational éhange.
Explain Maslow’s theory of motivation

Explain the stages of personality development.
Explain the group decision making process.

SECTION- D

Compulsory ) (1x10=10)

Explain the perceptual process with factors influencing perception.
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"IV Semester B.B.A. 4 (CBCS) Degree Exammatmn, September/()ctober 2022

COST ACCOUNTING
(Regular)

Time: 3Hour3_ L . MaximumMarks: 80

, Instructwns to Candzdates

| . L | -Answer any VTEN of the following’ sub quesuons Each sub question carries 2 marks
_ ;3)'._
b)
_ _._c)

g

b

1) _ Slmple calculator is allowed

.'2)'_ | Se_ctlon ‘D’ is compul_sory.
SECTION-A

(10x2=20)

; What is cost - a_ccounting?_ -

What is varia_blé cost?

What is danger stock level?
- What is idle time?
Give two examples of non-cost items.

* 'What do youmean by absorption of over Ic;ad‘?

How do you treat normal loss in process costing. -

' Whatis LIFO method?

- Nare any two methods of costing?

PT.O.
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j)  Whatis inachiheliour"rat,‘f’*? . | O BT R P
k) I_ - Givethe mcé:ﬁng_of process-costing. ’
- I) 'WhgtisHalséyplan?- |
SECTION-B
Answer any F éur of the foliow'mg quéstiops. Each qués_tion carries 5 ﬁ1arks. - (4><5=20) S '
2 | Whatarethe maih o.bj'ect'ives of cost-ac'co_ﬁntin’g?- | |
3. _Eﬁpléiﬁfﬂiifferer_lt-stock_levels?j E
4. | From the folldyﬁng p.e.lrti_cu.lars _prépa;relct)st shect N
| Qp@hingstoékofﬁ._llished goods | - Rs. 9756' -' =
' Closing stock of finished gao_ds - Rs. 11100
'_Ra\.?v%matérials pufchaséd B o Rs. 35250
~ Carriage on niat_éﬂal purchased o Rs.850 |
D:irectWages | | - | Rs 18450
_i:actory ex;)enses | o . | Rs.2750
| Sélling éxpgnsesl - | ~ Rs. 2450
'O'fﬁéc on cost . | ' B Rs. i850 |
 Sales o S Rs. 75000

Sale of scrap “ o o "~ Rs.250.
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6.

5.

| e o . 4519DSC201

- The fd}léwing information available from the books of philips T.V. company. -

Re-ordering quantity 3 360 ynits
Maximum consumption . 900 units per _:W_eek
Ndi'rnal consumption o 600 units per week

Minimum consumption ~ : 300 units per week

Emergéncy period o 2 weeks

Reorderperiod ;| 3toSweeks. .

.Calcula}te:

i) Reorder level

ii)‘ Mmlmum stoék level
_ii;’_): Maximum stock level.

The standard time for producing 100 érticles is 50 hours, The rate of wages is Rs. 1.50 per
hour the actual time taken for producing 100 articles is 42 hours. What are the earnings of
worker under Halsey plan. ' : : - o

A Transport company is running 5 buses between two cities which are 40 kms apart, seating
capacity of each bus is 50 passengers. Actual passengers carried were 80% of the seating
capacity: Each bus made ong trip per day. All the buses run on all the days of the month. Find |
the total passenger kilometers covered during the month of November 2021. -

P.T.O.

»
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SECTION-C
Answer any three questions Each question carries tenmarks. . o (3x10=30) .

The accounts of machine manufactunng company dlscloses the followmg mformatlon for B

‘6 months ending 31 12-2021.

© Material used Rs. 1,50,000

Direct wages © Rs.1,20,000
Factoryoverhea'd. © . Rs. 30,000

AdmuustratweExpenses . Rs. 15000

Pre:pare cost - sheet of machine and calculate the price which the company should T
quote for the manufacturc of a machine requiring materials valued Rs. 1500 and expenditure

in productive wages Rs. 500. So that the pnce might yleld a proﬁt of 20% on seilmg

price.

11-2-90

1-2-90°
2-2-90

4-2-90

6-2-90
©7-2:90

10-2-90

12-2-90

13-2-90

17-2-90 -

 Opening stack 100 units 4t Rs. 10.00

From the following infor'mation prepare stores ledger Afc under LIFO method.

~ Received 200 units at Rs. 10 each

Received 300 units at Rs. 10.60 each
Issued 400 units.

Issued 120 umts

_Recewed 400 units at Rs 1 each

Issued 200 umts. '

Received 300 units at Rs. 11.40 each

" Received 200 units at Rs. 11.50 - -

Issued 400 units.




: mi:mmmnlmlummm - ®  usypscor
10. | Calculate the total _wages under. | ' | | |
i) .Halsey Plan
ii) Rowan plan |
Sﬁndmd time fixed for.a taok is 56 ﬁours. |
| Standard wage rate pol_' hoiglri-s.Rs. 10.
Time .takes by Rupaa worker is 4(5 hours ﬁnd Anoioopa is36 hours |

11, The followmg partlculars relating to a company which is havmg 3 productlon departments |
ABandC. and two service departments X and Y B R :

Overheads o “A B¢ x g
- Total overheads as per -
distﬁbu_tion'summory 6300 7400 2800 ‘4500 2000

The company dec1ded to charge the serwce departments costs on the basm of followmg

' percentages -

Particulars ':-A ':B | c - " X Y.
) XDept_ N .40% 3% 20% 0%
.~YDeptl a 30%30% 20% ] 20% o

~ Find out total overheads for production departments chargmg Servace department costs to
' productxon departments under repeated dlstnbunon method '

P.T.O.
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Calculate the cost per Km ofa vehlcle from the foﬂowmg data. - B

Value of vehicle . Rs 15000

Road licence fee per year © Rs. 500

" Insurance bhargesperyear Rs. 100 |

- 13,

' _.Garager'entpéryear Rs. 600 - - |

Drivers wages per .r_nohth' Rs. 200

. Cost of Petrol per litre ©  Re.0.80°
* Kilometer per litre 8 |

 Tyreand maiﬁteﬂan_ce

Charges per km. g R.e._IO.)20
Estimated life (in km)~ 1,50,000 .
Estimated annual kilometer 6000

SECTION-D

(Compulsory)

(lxlt}—l(l) o

‘Product X is obtamed after it passes through 3 processes The followmg cost in formatlon RN
~ is-available for the operation o _ -

~ Total . | Process
Y1 m o
Material 5625 2600 2000 1025

Wages 7330 2050 3680 1400

_ Production over

heads 30 - -
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e 500 umts at Rs 4 per wnits were introduced i in process L Product:on overheads are
E "absorbed as a percentage of dnect wages. The actual output and nonnal loss of the respective -

"out'put uniti ~ Normalloss . Value of Scrap PW.

450 10% Rs.2

340 20% . Rs.4

S RrocessIT 270 2% RsS

- Thereis I_io stock or W'oﬂ_c - in - progress in'any process. |

- Show: The three p;ﬁccss accounts.
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v Semester B.B.A.4 (CBCS) Degree Examination, September/()ctober 2022
STARTUP MANAGEMENT
Paper : SEC-2
| -(Régular.)
~ Time : 1% Hours —— o o Max_i'mﬁm Marks : 40
Jnstructtons to Candidates. | ‘ | '

Write all the questions Numbers properly

SECTION-A

L Answerany Five sub questions of the followmg questmns Each sub question carries
.2 marks o (5%2=10)

1. a) - Whatis start up management?
b)  Define New Industrial Revolution?
c) Whatis feasibility study?
d) Whatdo ybu mean by boot strapping?
e)  Define Ideation in start up? |
f)  State ﬁvo government Initiatives for start ups?

g)  Define crowd funding?

SECTION -B

~ IL  Answer any Two sub questions of the following questmns Each carries S marks.
(2x5=10)

2. Briefly explain the Indian start up ecosystem?
‘3. Explain New Industrial Revolution in brief?

4. Write a Note on funding Issues of high tech ventures? '
[P.T.O.
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SECTION- C

IM.  Answer any Two Sub questions of the fa'l'lowiﬁg'.w Each question carries 10 marks.

5.
6.
7.

s ~ (2x10=20)
Explain in detail the Govenﬁ;ient nitiatives for startup in India?
Explain the reasons for new venture failure inIndia? |

Write a short noteon

'a)  The six forces of charge in startup o

b) The costand process ofraisiﬁg capxtal p
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IV Semester B.B.A 4 (CBCS) Degree Examination, SeptemberfOétober - 2022
MARKET RESEARCH ) | |
{Regular) -

Time : 3 Hours

Instruction to Candidates:

1)
2)

© Write question numbers correctly

Section - D is éompulsory

Maximum Marks : 8.

SECTION -A

Answer any TEN of the following.Sub questions. Each sub question carries two marks. -

1. a)

b)

-C)

9
)
D

g)

h)

D
K.

)

What is reseafch réport?

What is non-prc;bability sampling?
What do ydu mean by parametric test?
Define sampling.

What is data analysis?

What is plagiarism in research?
What is ordiﬁal scale? Give example.
What is sainpling error? -

What is questionnaire?

What is descriptive research?

Givé the meaning of ijiiography.

What is tabulation of data?

(10x2=20)

[P.T.O.
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10.

1.
12.

13.
-+ into their time usage habits. Your research report will help to start a new entertainment TV :

SECTION -B

Answer any FOUR of the following questlons Fach question carries FIVE marks.
- (4x5=20)

What are the advantages of secondary data over primary data Explam any three methods of
pmnary data collection.

Distinguish between qualitative and quantitative research.

Explain various techniques of probability ea:rnpling.

[Explain the procedure of hypbt_hesis testing.

Explain the scope and significance of research.
Deﬁne scaling. Explain scaling techniques.

SECTION C

Answer any THREE of the following questlons Each question carries TEN marks,
. (3x10=30)

Explain the significance of research report and narrate the steps mvolved in draﬁing report.
Explam the steps involved in designing research design.
Write short note on 7
a) - Errors in hypothesis
b)  Classification of data
Explain the types of research in detail.
Explain the significance and lirﬁitations of'secondary data.

- SECTION- D

(Compulso'ry)

- Answer the following o ' (1x10=10)

Formulate aquestlonnalre tobe dlStI'lbutGd among the college students community enquiring

Channel.
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iV Semester B.B. A3 Degree Examination, September/()ci‘oi)er 2022
- : OPERATION RESEARCH

(Repeater)
Time : 3 Hours - ' - o Maximum Marks':IS{)

Instructions to Candidates :
Simple Calculator is allowed.

SECTION - A

' Answer any Ten sub questions of the follomné, Each sub question carries 2 marks.
‘ : (10%2=20)
1. a) Define slack variable.
) _ b) Whatisdegeneracy?
% ¢}  Write any two applicaﬁon of assignment model.
d) - Define unbalanced assignment schedule. '
e) Define game theory, '
f) - Define two person zero sum-game.
gy Define LPP. |
h)  Define balanced transportation problem.
i) Name any four models of operation research.
i) Defm’e mixed strategy. |
k) Name the methods of transportation problem.
.1) What are the methods of game theory?
o SECTION - B
Answer any Four of the following, Each question’ carries 5 marks. : (4><S=2(])

2. What is difference between transportation problem and assignment problem?
Define operation research. What are the limitation of operation research? -
4. Calculate the transportation cost by using matrix minima method.

[P.T.0.
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A B C D Available . |
| I | 4 5 4
I 5 4 3 1 12
m | 3 3 2 8
“Required | 5 | 6 8 5
5.  Solve the game by Dominance method & Find the va[ué of the game.

Player B
Bl B2 B3 B4
: A3 2 0 6
Playerd A2 (-1 -3 0 -1|
CA3]-3 4 -3 0

© Solve the assignment schedule

Machines
Ml | M2 M3 | M4
Wl 7 25 16 10
w2 | 12 , 27 3 25
Men | W3 37 18 17 14
wi | 18 8 23 9

Solve the following transportation problefn of using North - West Corﬁer Rule.

DI D2 D3 D4 Available
oL |6 4 7 3 10
02 5. 8 10 2 28
03 - |4 5 8 6. 25
Required| 17 9 22 15
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I | SECTION - C
Answer any Three of the follewing. Each carries 10 marks. - (3%10=30).
8. Solvethe folllowing. L.P.P graphically |
Maximise z=110x+30y
Subject to 2x+4y 220
2x+5y <80
& x20 y=0
- 9. Write short notes on the-foliqwing'
i) _ Fair Game |
it) Pure Strategy
iii) Simplex method
iv) Non-Degeneracy.

10. Solve the following assignment problem

. ' ,-Macﬁincs_ . |
ML M2 M3 M4 - M5
J1 5 3 4 7 1
1”2 2 3 7 6 5
Jobs - J3 | 4 1 5 2 4
|6 | 8 1 2 3
55s 4 ]2 | s |7 1
11. Solve by Vogel’s approximation method. -
| Dl | D2 D3 " D4 Supply
01 s o3 1 4 10
02 7 |8 | 2 6 13
"~ o3 3 |2 | s 1 12
Demand | 3 0 | 17 | s '

" 12. Whatis assignment problem? Explain the algorithm of assignment problem.
| | [P.T.O.
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" SECTION - D

(Compulisory)

i3.  Solve the following 2x5 game by graphi.cal method

37423

(1%18=16)

Player E%-.
BL = B2 B3 B4 B5
Player A Al -4 4 0 ;1 . 7
A7 |3 a0 s 4
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IV Semester B. B A.3 Degree Exammatmn, September/October 2022

FINANCIAL MANAGEMEN T
(Repeater)

~ Time :3 Hours o ._ - _ MaxiniumMerks:_-SO_-

_ .Answer any TEN sub questlons of'the followmg Each sub question carries 2 marks

1. a)

b

e)

g

©

i)
k)

he
- and 2000 shares of Rs. 10.each.

i)

" Instructions to Candidates :

1} Simple ceJCulators are allowed.
2) - Show the working notes.
3)  Part-Dis compulsory. -

PART A

_ _ e ><2=20)
Define Financial management

: What is Tradmg on Equity?

<
&)

What is over capltahsatlon'? |
What do youmean by dividend pohcy‘?
WhatisWACC?

* Whatis financial Ieverage" '

What is capitalisation?
What is cost of capital? -

| What.is capital structure?' s

What is profit-maximisation? |
What is financial planning? : o .
Calculate book value of shares, Sundry assets Rs 2 00 OOO sundry l1ab1ht1es Rs 80000

PARTB'

~ Answer any FOUR questions of the followmg Each question carries 5 marks. (4 ><5—-20)

2. ‘Explain the principles of sound financial planning.

3. Explain the factors affecting dividend pohcy

. A company issues 15% debentures of Rs. 10,00,000. The. company is 50% tax bracket
- Ca]culate the cost of debt, if the debentures are issued at par
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Calculate combmed leverage from follomng data.

Selling pnce per unit - Rs. 90
_ Variable cost perunit . o Rs. 40
Fiedeot —~ Rs.3,00,000
Interest R Rs. 1,00,000
| Tax rate ' - 50% .
N_umber_of units sold 10,000 ﬁnifs

Ravi Co. Ltd. has capifaljsation of Rs. 10,00,000. It eams ‘annually Rs. 1,00,000. The general
rate of retugn in the industry is 15%. Find out the capitalisation status of the company.

Explain any 5 causes of 0\}'_er capitalisation. -
PART - C
Answer any THREE questions of the following: Each quesuon carries 10 marks (3><10=-—30)

Explain the determmams of capital structure.

. Explain the role of a finance manager.

.From the fallowmg particulars relatmg to the capltal structure of Blue Ltd. Calculate overall

cost of capital usmg as book value weights and the market value,

Sources of Funds ~ Book value Rs. Market ValueRs.
Equity sharecapital 45,000 90,000
Retained earings 15,000 ]

Preference share capital 10,060 o 10,000 |
Debentures - 30,000 30,000

The after - tax cost of diff_erent sources of finance is
Equity share capital ~ 14% o
Retained eamings ~ 13%

Preference share capital 10%

Debentures T 8%

._Détails regarding hree companies are given below: |
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Details regardmg three companies are given below:

ALd. *+ - BLW, ~  Cltd
r=15% - r=10% T=8%
K=10% K =10% K_=10%
€ c - € N
E=Rs.10  E=Rs.10 E=Rs. 10

By using Walter’s model, you are required to Calculate the-value of an equlty share of each '
of these cempanms when dividend pay out ratio is 100%.

Calculate 1) Operating leverage ii) Financial leverage. -

iii) Combined leverage from following data. -

Sales - ‘Rs. 960 000

Less: Variable cost ,  5.60,000
Contribution ©4,00,000

Fixed cost - . - 2.40.000

EBIT | 1,60,000

Less: Interest - - 60.000

Profit Before tax 1,00,000

Less: Taxat50% - 50,000

Profit after tax 50,000

| - “PART-D

(Compulsory) o TR o (lxl{l-lﬂ)

Innovative Co.Ltd wants to set up a new factory at an investment of Rs. 25,00,000 at’
Bangalore. T’he new factory is expected to yield EBIT of Rs. 5,00,000. '

For Max1mlsmg its EPS, it is cons1der1ng followmg altematlve proposals:

i) 10% debt of Rs. 5,00,000".

i) 15% debt of Rs. 7,50,000 I
iii) 20% debt of Rs. 10,00,000 :

The remaining amount in each proposal shall be collected through equity shares of Rs.
100 each. The company is in 40% tax bracket. Which financial proposaI do you recommend '

. on the baszs of EPS'? ‘




